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.‘ r ue or F q \ s e ? Long division (2)

False
1600 = 32 = 50
96 +32=3

so

1,696 +— 32 = 33
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Tfrue'or False ? Long division (3)

False

582 = 27 = 2| remainder 15

This means that 2| coaches aren’t enough to take everyone,

so you would need 22 coaches.
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-‘rue or Fa‘se Long division (4)

True

This is because IS is a multiple of 5,
so dll multiples of IS are also multiples of 5

Al multiples of 5 have a O or a 5 as the ones digit.
2,486 doesn’t, so there will be a remainder when divided by IS





